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import matplotlib. pyplot as plt

from matplotlib. widgets import Slider

Import numpy as np

& HBETT G

def single slit_diffraction_intensity (slit_width,
wavelength, screen_distance, X):
return ((np. sin((np. pi * slit_width * X)/(wave —
length * screen_distance)))/((np. pi * slit_width *

X)/(wavelength * screen_distance))) * * 2

X = np. arange(— 3,3,0. 0001)

wavelength = 100 % (10 * * —7)
slit width = 100 * (10 % * —7)

screen_distance = 50 % (10 % * — 2)

Y = single_slit_diffraction_intensity(slit_width,

wavelength, screen_distance, X)

plot, = plt. plot(X,Y)
SRR

plt. rcParams[ font. sans — serif | = ['SimHef ]
# HPRIE R B h SChR %

plt. rcParams[‘axes. unicode_minus | = False
# HRIER RS

plt. xlabel("distance to centre")

plt. ylabel(" intensity")

axis= (plt. axes([0.75, 0.75, 0.1, 0.05]))
axis?2 = (plt. axes([0.75,0.65, 0.1, 0.05])
axis3 = (plt. axes([0. 75,0.55, 0.1, 0.05]))

wavelength_slider = Slider(axis, ##(nm)’, 10,
1000, valinit = wavelength * 10 ¥ % 9)
slit_width_slider = Slider(axis2, " 5% (nm) ",
10, 1000, valinit = slit_width * 10 * % 9)
" R IE
B (em)", 10, 100, valinit= screen_distance *

10 % % 2)

screen_distance_slider = Slider(axis3,
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def update(val) .
wavelength = wavelength_slider. val * (10 ¥ *-9)

slit_width = slit_width_slider. val * (10 ¥ *-9)

screen_distance = screen_distance_slider, val *
(10 * *-2)
Y = single slit diffraction intensity(slit_width,

wavelength, screen_distance, X)

plot. set_ydata('Y)

wavelength_slider, on_changed(update)
slit_width_slider. on_changed(update)

screen_distance_slider. on_changed(update)

plt. savefig(+"E:\ P 4% fif §F.jpg". dpi = 500,
bbox_inches = tight) # U &A1 & .5 H %,
F T LB A A R
plt. show ()
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The Application on Python in University Physics

———Taking Single Slit Diffraction as an Example

ZHANG Baitong KONG Peng

(School of Physics and Electromechanical Engineering, Jishou University,Jishou, Hunan 416000)

Abstract: The construction of new engineering courses is an important strategic measure for the cultivation of

engineering talents proposed by higher education. As a basic course of engineering majors, university physics

plays a particularly important role in cultivating engineering talents. How to improve the teaching effectiveness of

university physics within a limited class hour requires the reform of teaching contents and teaching methods.

Taking Python language as the starting point, this paper analyzes the current teaching situation of engineering

university physics, combined with front-line teaching practice, puts forward the integration of Python language

and university physics, and gives strategies and ways to improve the innovation of engineering students.

Key words:new engineering; university physics; Python; innovativeness



